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N = 0] &F AF S & AN A
20198 = 20l A LBHS H S KRt
EX: EXOHE
HEM: ETHY 4
R EXY 2435 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
& XHOH & 1t 17,836,680 11,498, 160 6,338,520
= 1,500,000
g 1,380,000
= 5,563,000
Al 9,393,680
ENYgY =4 155,000 30,000 125,000
SN 43t 155,000 30,000 125,000
EXAIY 0HHE 23t 5,000 30,000 A 25,000
203 €2 F=&d| 5,000 0 5,000
03 Al ZH =X AR = XH| 5,000 0 5,000
OEXMNE Y AIHFTRNALZFXH 5,000,000 5,000
EXAIY 2229 150,000 0 150,000
207 &I & d 150,000 0 150,000
01 24| 150,000 0 150,000
OsXts S 60 AtY 2222 HE =2
150,000, 000& 150,000
At s eF S e 13,717,000 10,828,000 2,889,000
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= 5,563,000
Al 7,254,000
A2 B2 &5 13,717,000 10,828,000 2,889,000
Fag 900,000
=} 5,563,000
Al 7,254,000
SEH NSy (MESAHE MB MEHX) X4 7,321,000 5,464,000 1,857,000
= 2,790,000
Al 4,531,000
401 Al HI L £ 0HHI 7,321,000 5,464,000 1,857,000
= 2,790,000
Al 4,531,000
01 Al& H| 7,313,000 5,451,433 1,861,567
OsSEd sz (Mss2ds MTB ME SX)
4 7,313,000,000& 7,313,000
= 2,784,000
Al 4,529,000
03 Al 24| 8,000 12,567 N4 567
OSEd sz (M s24S MTB MESX)
N 8,000,000& 8,000
o= 6,000
Al 2,000
AQAH HZUEZ AHZRH 4,596,000 3,600,000 996,000
& 2,773,000
Al 1,823,000
401 AlEHIZ £ 0HY| 4,596,000 3,600,000 996,000
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AN EXORE D

g 0|g EX 24

= &£

yo ton

& JIgxd X& 2t (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OANMESRINE = 36,400,000& 36,400
OZeldl 37,500,000& 37,500
OCHEEE= 4,000,000& 4,000
202 oddl 1,000 1,000 0
01 = LH o4 1l 1,000 1,000 0
OFCEEgHEdy &2 42 =& 1,000,000 1,000
307 21201 A 8,200 8,700 A 500
02 P SAMHEL 8,200 8,700 A 500
Oxg E=sAMg XA 8,200,000& 8,200
T80 BHPEFHIY S NA[IHMLHR = 3,000 2,000 1,000
&
202 odl 3,000 2,000 1,000
01 = LH 4 bl 3,000 2,000 1,000
O=J1etH e JIgRX 82 S ¢l
3,000,000& 3,000
NRES(SERNL ) 2,650 0 2,650
SEXNE(SEAIHL D) 2,650 0 2,650
MOIAAELR BII=8Z5E= Bt 2,650 0 2,650
802 BtEt= DI EF 2,650 0 2,650
03 Ug=s 2,650 0 2,650
OMOIAAER FI=dE5ES BHE
2,650,000 2,650
2L (SXHL D) 45,880 49,460 A 3,580
JI2ZH (SR n) 45,880 49,460 A 3,580
JI2ZHI (SR ) 45,880 49,460 A 3,580
201 Let24d] 16,000 14,000 2,000
01 At 2teltl 12,000 10,000 2,000
ORA2E AR 22| 12,000, 000& 12,000
02 8322l 4,000 4,000 0
O3EXE |AH 4,000,000 4,000
202 odl 26,880 24,960 1,920
01 = LH 4 1l 26,880 24,960 1,920
OJl2ge+a8udl(14Y) 26,880,000 26,880
203 YR =&l 3,000 8,000 A5,000
04 FN2ELRZ=TH 3,000 3,000 0
ORNMSYY2FAHI(15210l0tH)
250,000& 1228 3,000




